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A PREMIER INSTITUTE FOR BANK PO/SSC/MCA/MBA-CAT ENTRANCE ACADEMY

SPECIAL PUZZLE TEST-4

Solution: 1-4:
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1. (D), 2. (E),3.(A), 4. (E).

Directions 5-9:
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5. (d) Since the gender of S and V is not confirm.
6. (a)
7. (b), 8. (c), 9. (d).

Directions 10-11:

Person Grade Game Row

A National Badminton 1

B International Cricket 1

C International Cricket 4

D National Badminton 4

E International Badminton 3

F Inernational Cricket 2

G National Badminton 2

H National Cricket 3

10. (b), 11. (a).

Directions 12-16:
Friend University Subject
Manjit S Maths
Navin Q Economics
Parul P History
Hiteh P Political science
Raghu S Accouns
Sahil Q Geography
Tarun S Chemistry

12. (d), 13. (a) 14. (e) 15. (c) 16. (b).

17-21
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17. C 18. A 19. B 20. D, All other pairs face inward.
21. E
Directions 22-26 :
P
U S
T 1
O A
R Q
E

22.(b), 23. (e), 24. (a), 25. (a), 26. (c).
Directions 27-29:

27.(d), 28. (d), 29. (a)

Directions 30-33:

30. (b) 31. (b) 32. (B) 33. (¢)
Directions : 34-38

o

T

34. (d) P. All persons except P are facing the centre.
35. (b) M.
36. (c) Third to the left.
37. (c) O is an immediate neighbour of R.
38.(a) TQ.
In all pairs first person is immediate right of second person and there is
one person between First pair (SM) and second pair (QO), two persons
between second pair (QO) and third pair (NS) and three persons between
third pair (NS) and fourth pair (OP). So, there must be four persons
between
Directions 39-44 :

()

Q M

N P
R

39.C | 40.D | 41.A | 42.c | 43.D | 44.B |

45. A

46. E 47.C 48.E 49. A




